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Questions : 1

Which circle should logically replace the question mark?
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Ans: A
Each part moves a fixed number of degrees clockwise, either 0, 90, or 180.

Questions : 2



What continues the above sequence?
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Ans: D

The small black dot alternate between moving one forward and two back. The small white dot
moves alternates between moving one back and two forward. The large black circle alternates
between moving three back and two forward. The large white circle alternates between moving

one forward and two back.

Questions : 3



What comes next in the above sequence?
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Ans: E

Each triangle stays on its same base but its apex moves. The triangle with the dot moves one

clockwise, two anti clockwise etc. The other triangle moves in exactly the same way.

Questions : 4



Which circle should replace the question mark?
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Ans: D

There are three different top symbols and three different bottom (inverted) symbols in each

horizontal line and vertical column of shields.

Questions : 5



Which pentagon should replace the question mark?

Ans: B

The contents of each pentagon are determined by the contents of the two pentagons
immediately below it. When lines are common to these pentagons they are not carried forward

to the pentagon above.
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